Content  for Fr'\da\}r 15 | 5\ 202.0

An Tsosceles  4riamle
| | Calculate the value OQ‘J\he un known cmciteQ

5t +5¢& +8€ =130

&*© o

0t A5t - {0

Kt Lo 1O

§ 8- R
Soluthon g \

' =,

JES, 756

Lease angtes aré 6?.L\Cl-l

Note: \n an \sosceles triangle, the o base

omg\es are egzua\ '

0 AW TW = Vg
Ay AW = Ve
S\l = {80
t
sSoluwhon 5(\/\1 — 180
‘ 5
— J ) o
9_\” \\ . W - 3 6
ﬁne, +wo bag QF\S\'E-S Q‘P
AN \ogeeres %\qﬁs\-e
are. -c’i\lov\




Aoty for Frvday isls ) 2006

C  Calev\are he value of voknown angleg

O)~ b C).
40
K

Al 5 Sl

d)-
[0
P / 70 l”’l \




